Annex Figure 3.3.2. Sectoral Labor Productivity Growth,

2000-10
(Difference with respect to economy-wide labor productivity growth,
percentage points)
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Source: IMF staff calculations.

Note: The figure shows the cross-country distribution across 19 advanced
economies and 12 emerging market and developing economies of the percentage
difference between average labor productivity growth in each sector and
aggregate labor productivity growth over 2000-10. The horizontal line inside each
box represents the median; the upper and lower edges of each box show the top
and bottom quartiles; and the red markers denote the top and bottom deciles.
Nonmarket services consist of government, education, and health. All other
service industries are market services.



